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const int MAXN=5e3+5,Mod= ;
int Inv[MAXN];
int inv(int Xx
int k=Mod-2,ans=1;
k
k&1 )ans=1LL*ans*x%Mod;
x=1LL*x*x%Mod;
k>>=1:

’

ans;

struct Seg
int lef,rig;
bool operator < (const Seg &b)const
lef+rig<b.lef+b.rig;

seg|[MAXN];
int cal(int 11,int rl,int 12,int r2
rl<=12 ;
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int s=0,L=max(11,12+1),R=min(rl,r2);
ri>r2
s=1LL*(rl-r2)*(r2-12+1)%Mod;
s=(s+1LL*(R-12+L-12)*(R-L+1)/2)%Mod;
S;

int main

int n=read int();

_for(i,0,n

seg/i!.lef=read int(),seg/il.rig=read int();
sort(seg,seg+n);

int ans=0;
_for(i,0,n
Inv[i|=inv(seg/i|.rig-seg/i|.lef+1);
_for(i,0,n

_for(j,i+1,n
ans=(ans+1LL*Inv[i/*Inv|j|%Mod*cal(seg/i|.lef,seqglil.rig,segl(j!.lef,seqg!]j
rig) ) %Mod;

enter(ans);
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const int MAXN=3e5+5;

struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge| ++edge cnt|=Edge{v,head/u] };
head|u!=edge cnt;

namespace LCA

int d/MAXN],sz[MAXN],f[MAXN];

int h son/MAXN|,mson[MAXN|,p MAXN];

void dfs 1(int u,int fa,int depth

szlul=1;flul=fa;d/ul=depth;mson ul=0;
int i=head/ul;i;i=edgeli].next
int v=edge/i!.to;
==fa

;

dfs 1(v,u,depth+1);

szlul+=sz|v];
sz[v/>msonlu

h sonlul=v,mson|ul=sz|v];

void dfs 2(int u,int top
plul=top;
mson|ul|)dfs 2(h son|ul,top);
int i=head|u];i;i=edge[i].next
int v=edgel[i].to;
v==f[ul||v==h_son|u

dfs 2(v,v);

void Init(int root) {dfs 1(root,
int query lca(int u,int v
piull=plv
diplull<d[plv swap(u,v);
u=fiplull;

,0),;dfs 2(root, root);

dlul<d[v]?u:v;

LL dpl/MAXN],dp2[MAXN;
void dfsl(int u,int fa
int i=head|u;1i;i=edge!i].next
int v=edgel[i].to;
v==Ffa ;
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dfsl(v,u);
dpllul+=dpl|v];
dp2/ul+=dp2[v]|+dpl|Vv];

void dfs2(int u,int fa
int i=head(u];i;i=edge[i].next
int v=edge([i].to;

v==fa ;
dp2/v]/+=dp2|ul;
dfs2(v,u);

int main

int n=read int(),m=read int();
_for(i,1,n
int u=read _int(),v=read int();
Insert(u,v);
Insert(v,u);

LCA::Init C
LL s=0;
m__
int
u=read int(),v=read int(),p=LCA::query lcalu,v),len=LCA::du/+LCA::d[v]|-2*L
CA::dip!;
dpliul+=2,dpl|v]|+=2,dplip|-=4;
dp2/ul+=1-len,dp2/vi/+=1-len,dp2ip|-=2;
S+=1LL*(LCA::d/ul-LCA::d[p])*(LCA::d[v|-LCA::d[p

dfsl(1,0);
dp2/1]+=s;
dfs2(1,0);

_rep(i,l,n)enter(dp2/i]);
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const int MAXN=8e4+5, MAXM= ,Inf=1e9;
int a/MAXN|, root[MAXN<<2|,lef MAXN<<2|,rig MAXN<<2|,lazy|MAXN<<2];
int n,sz,s MAXN*MAXM!| , ch| MAXN*MAXM ;
void update 1D(int &k,int pos,int v,int lef=1,int rig=n
lk) k=++sz;
s[kl+=v;
lef==rig ;
int mid=lef+rig>>1;
pos<=mid
update 1D(ch[k ,pos,v,lef,mid) ;

update 1D(ch[k ,pos,v,mid+1,rig);

void build(int k,int L,int R
lef(k!=L,rig/ k!=R,lazy|k]|=Inf;
_rep(i,L,R)update 1D(root/k!,alil,1);

L==R ;
int M=L+R>>1;
build(k<<1,L,M);
build(k<<1|1,M+1,R);

vector<pair<int,int> >del;

void dfs(int k,int pos,int lef=1,int rig=n
Is|k ;
lef==rig
del.push back(make pair(lef,s|k ;

I

int mid=lef+rig>>1;

pos<mid)dfs(chlk ,pos, lef,mid) ;
dfs(ch[k ,pos,mid+1,rig);
void dfs2(int k,int pos,int lef=1,int rig=n
Isk .
lef==rig
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s[k]=0;

.
’

int mid=lef+rig>>1;

pos<mid)dfs2(ch[k ,pos,lef,mid) ;
dfs2(chlk ,pos,mid+1,rig);
s/ ki=sichlk +s[chlk ;

void update v(int k,int v
siroot k! |!=rig/k]|-lef(k!/+
update 1D(root|k],v,rig/k]-lef[k|+1-s|[root/k ;

void push down(int k
lazy k| !'=Inf
dfs2(root|k<<l],lazylk!l);
update v(k<<l,lazy|k]l);
lazy|k<<l]=min(lazy|k<<l],lazy k] );
dfs2(root/k<<1|1],lazylk!);
update v(k<<1l|1,lazy/kl);
lazy|k<<l|1!=min(lazy|/k<<1|1],lazylk!);
lazy k! =Inf;

void update 2D(int k,int L,int R,int v
L<=lef|k|&&rig|k|<=R
lazy|/k!=min(lazy k! ,v);
del.clear();
dfs(root/kl,v);
Kk
_for(i,0,del.size
update 1D(root|k|,del[i].first,-del/i].second);
update v(k,v);
k>>=1;

push down (k) ;
int mid=lef|k|+rig/ k!>>1;

mid>=L)update 2D(k<<l,L,R,v);
mid<R)update 2D(k<<1|1,L,R,v);

int query 1D(int k,int L,int R,int lef=1,int rig=n

Ik o
L<=lef&&rig<=R s kl;
int mid=lef+rig>>1;
mid>=R query 1D(chlk ,L,R,lef,mid) ;
mid<L query 1D(chlk ,L,R,mid+1,rig);

query 1D(chlk ,L,R,lef,mid)+query 1D(chlk ,L,R,mid+1,rig);

int query 2D(int k,int L,int R,int v
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L<=lef|k|&&rig|k|<=R
query 1D(root[k|,1,v);

push down (k) ;
int mid=lef|k|+rig/ k!>>1;
mid>=R query 2D(k<<1,L,R,v);
mid<L query 2D(k<<1]|1,L,R,v);

query 2D(k<<1,L,R,v)+query 2D(k<<1|1,L,R,v);
int main

n=read int();
int m=read_int();
_rep(i,l,n)alil=read int();
build(1,1,n);

m- -

int opt=read int(),l=read int(),r=read int(),v=read int();
opt==
vV>=n ;
update 2D(1,1,r,v);

int lef=1,rig=n,mid,ans=-1;
lef<=rig
mid=lef+rig>>1;
query 2D(1,1,r,mid)>=v
ans=mid;
rig=mid-1;

lef=mid+1;

enter(ans);

From:
https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanent link: 4-,
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:contest:ccpc_wannafly_winter_camp_dayl g

Last update: 2020/09/20 21:11

CVBB ACM Team - https://wiki.cvbbacm.com/


https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:contest:ccpc_wannafly_winter_camp_day1

	CCPC Wannafly Camp Day1
	A. 期望逆序对
	题意
	题解

	E. 树与路径
	题意
	题解

	I. K 小数查询
	题意
	题解



